COMPASS

~

Queens Luxury Report

May 19 - 25, 2025, Residential Contracts \$1.25M+ Photo: <u>32-40 213th Street</u>

COMPASS

The Queens luxury real estate market, defined as all properties priced \$1.25M and above, saw 18 contracts signed this week, made up of 3 condos, and 15 houses. The previous week saw 10 deals. For more information or data, please reach out to a Compass agent.



Queens Luxury Report

Contracts \$1.25M+, May 19 - 25, 2025

	78-29 Forest	Austin St,	Contract Signed				
	Type DOM	Condo -	Price Initial	\$3,881,150 \$3,881,150	Sq. Ft. PPSF	2,574 \$1,508	Beds 3 Baths 3.5
Contraction of the second seco	215-3 Bay Te	1 26th Ave rrace	Contract Signed				
	Type DOM	House 114	Price Initial	\$2,488,000 \$2,488,000	Sq. Ft. PPSF	2,695 \$923	Beds 3 Baths 4
		1 87th St n Heights	Contract Signed				
	Type DOM	House 91	Price Initial	\$1,995,000 \$1,995,000	Sq. Ft. PPSF	2,117 \$942	Beds 5 Baths 5
	5-12 Ridgew	Grandview	Contract Signed				
	Type DOM	House -	Price Initial	\$1,988,000 \$1,988,000	Sq. Ft. PPSF	1,872 \$1,062	Beds 4 Baths 3
	-	2 87th St n Heights	Contract Signed				
	Type DOM	House 57	Price Initial	\$1,925,000 \$1,925,000	Sq. Ft. PPSF	2,200 \$875	Beds 5 Baths 4
	14-80 Whites	163th St tone					Contract Signed
	Type DOM	House 338	Price Initial	\$1,895,000 \$2,088,000	Sq. Ft. PPSF	-	Beds 3 Baths 3.5

COMPASS

and a second

65.53

1

1

Compass is a licensed real estate broker and abides by Equal Housing Opportunity laws. All material presented herein is intended for informational purposes only. Information is compiled from sources deemed reliable but is subject to errors, omissions, changes in price, condition, sale, or withdrawal without notice. No statement is made as to the accuracy of any description. All measurements and square footages are approximate. This is not intended to solicity property already listed. Nothing herein shall be construed as legal, accounting or other profesional advice outside the realm of real estate brokerage.

© 2025 Compass. This report and information provided in this report are proprietary to Compass and may not be sold, used or reprinted, in whole or part, without the prior written consent in each instance of Compass. Data is subject to revision. Sourced from Compass proprietary database. All rights reserved.

COMPASS

Queens Luxury Report

Contracts \$1.25M+, May 19 - 25, 2025

	196th Pl 1eadows	Contract Signed							
Туре	House	Price	\$1,650,000	Sq. Ft.	1,850	Beds	4		
DOM	5	Initial	\$1,650,000	PPSF	\$892	Baths	2		
157-44 12th Ave							Contract Signed		
Beechł	nurst								
Туре	House	Price	\$1,648,000	Sq. Ft.	2,680	Beds	4		
DOM	71	Initial	\$1,648,000	PPSF	\$615	Baths	3		
3 Hill Whites	Court	Contract Signed							
Туре	House	Price	\$1,628,000	Sq. Ft.	2,500	Beds	4		
DOM	21	Initial	\$1,628,000	PPSF	\$651	Baths	4		
	135th St	Contract Signed							
Queen	sboro Hill								
Туре	House	Price	\$1,599,000	Sq. Ft.	1,636	Beds	6		
DOM	14	Initial	\$1,599,000	PPSF	\$977	Baths	3		
	D7 Richlan nd Gardens	Contract Signed							
		D :	\$1.400.000	0 5	2 24 0		4		
Type DOM	House 10	Price Initial	\$1,499,000 \$1,499,000	Sq. Ft. PPSF	2,268 \$661	Beds Baths	4 3		
DOM	10	Initial	\$1,499,000	PPSF	2001	Baths	5		
	Borden Av sland City	Contract Signed							
Туре	Condo	Price	\$1,400,000	Sq. Ft.	1,237	Beds	2		
DOM	76	Initial	\$1,400,000	PPSF	\$1,132	Baths	2		

Compass is a licensed real estate broker and abides by Equal Housing Opportunity laws. All material presented herein is intended for informational purposes only. Information is compiled from sources deemed reliable but is subject to errors, omissions, changes in price, condition, sale, or withdrawal without notice. No statement is made as to the accuracy of any description. All measurements and square footages are approximate. This is not intended to solicity property already listed. Nothing herein shall be construed as legal, accounting or other profesional advice outside the realm of real estate brokerage.

© 2025 Compass. This report and information provided in this report are proprietary to Compass and may not be sold, used or reprinted, in whole or part, without the prior written consent in each instance of Compass. Data is subject to revision. Sourced from Compass proprietary database. All rights reserved.

COMPASS

Queens Luxury Report

Contracts \$1.25M+, May 19 - 25, 2025

	39-50 Sunnys) 45th St	Contract Signed						
	Type	House	Price	\$1,400,000	Sq. Ft.	952	Beds	3	
	DOM	18	Initial	\$1,400,000	PPSF	\$1,471	Baths	2	
	DOM	10	Initial	\$1,400,000	FFJF	\$1,411	Baths	2	
	32-20) 167th St					Co	ontract Signed	
	Murray	Hill							
	Туре	House	Price	\$1,390,000	Sq. Ft.	2,300	Beds	4	
	DOM	8	Initial	\$1,390,000	PPSF	\$605	Baths	2.5	
, Å	45-35	5 220th Pl					Co	ontract Signed	
	Bayside							3	
	Туре	House	Price	\$1,388,888	Sq. Ft.	-	Beds	4	
	DOM	122	Initial	\$1,548,888	PPSF	-	Baths	2.5	
	37-50) 79th St	Contract Signed						
		n Heights						5	
	Туре	House	Price	\$1,275,000	Sq. Ft.	2,193	Beds	4	
	DOM	43	Initial	\$1,275,000	PPSF	\$582	Baths	2	
1 Martin	264-4	45 73rd Av	Contract Signed						
	Glen O		•						
	Туре	House	Price	\$1,261,000	Sq. Ft.	2,416	Beds	5	
A A	DOM	35	Initial	\$1,261,000	PPSF	\$522	Baths	3	
	11-32 31th Ave, Unit 2B							Contract Signed	
	11 32	-							
Se l	Astoria								
No.			Price	\$1,250,000	Sq. Ft.	1,168	Beds	2	

Compass is a licensed real estate broker and abides by Equal Housing Opportunity laws. All material presented herein is intended for informational purposes only. Information is compiled from sources deemed reliable but is subject to errors, omissions, changes in price, condition, sale, or withdrawal without notice. No statement is made as to the accuracy of any description. All measurements and square footages are approximate. This is not intended to solicity property already listed. Nothing herein shall be construed as legal, accounting or other profesional advice outside the realm of real estate brokerage.

© 2025 Compass. This report and information provided in this report are proprietary to Compass and may not be sold, used or reprinted, in whole or part, without the prior written consent in each instance of Compass. Data is subject to revision. Sourced from Compass proprietary database. All rights reserved.